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20. The demand and supply functions are D = 200 - SOP and s = so + 25P 
respectively. Find the changes in price and quantity when the government levies 
specific tax of Rs. 3 per unit. 

D = 200 - SOP ~ S = 50 + 25P ~~7' d~t3l! ~ ~q,~ ~0tJ6K~1'\t:i)~rl. 
~rd a:J,.; ~~~~ .i:l~d ~ - 3 ~ NOF" ~ ~Orto:b~ ~Q'-'c.>rl ci~ ~~ 
~~[,)o~roo::s tJoc.,~O::Sf§DD~ tjoz:bl:ol2cmo. 

21. Solve the following equations using Cramer's Rule. 

2x1 +3~= 13 

x1 + 7'X..i = 23. 

~~tb~ ~otJ,ii~ ~;l)tf ~o:b~~ ~,t,i ~Oc50.!JO. 
IJ at · ::J ,.,, ' 

2x1 + 3~ =: 13 

x, + 7~ = 23. 

22. Explain the importance of Mathematics in Economics. 

c,~F'~~r:$~ n~~~d ~~~ ~~O.!J. 
d M d <:l aC. 
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Ill Semester B.A. Examination, February/March 2024 
. (NEP) (F+R) 

ECONOMICS 
DSC 3.2 : Mathematics for Econom,ics 

Time : 2½ Hours Max. Marks : 60 

Instructions : 1) Answers should be written completely either in Kannada or 
in English. 

· 2) Answers of Part - A should be continuous . 

3) Answers should be precise. 

PART-A 

~rC-w 

Answer any ten questions. Each question carries two marks. 

o:m~Cc>ddJcl m~ ~.~rt<i'Tt cro~O.l,. id.A ;:j.~rt wdtt> c,~71..u. · 
J-'"I, ... _, -'OC. 

1. What do you mean by Matrices ? 

· · ~ifrt'-1J .:lod~ero i · · 

2 . . Give the meaning of finite set.· 

~O~i rt~d ~~F~c::D N~~-
~ 

3. Find the value of x when x2 + 2x + 2 = o. 
x2 + 2x + 2 = o ~1\ro~li x c:$ ~~i~~ wom&~o,JO. 

. . .. . 4. Define Marginal Cost. 

.1Je~o;5 ~?.3~"""' ~ O\"I""\ !'I!, ?.i ~ WYOINY&~"'· .. 

5. Name any two economic functions. 

OlJc>~o;ictiJi> ~ol3) ~~n ~otJ~nw:b ~o~. 
<'l 

6. What are Integers ? 

~mrowrt\'b a:)odoe~ ? 

(10x2=20) 

P.T.O. 
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7. If A =[2~ ;J find 2A. 

A= [ ! ;] c,l'lcb~K 2A e,~ ~orot:otlOOJo. 
'I . ' ' 

a. If a = 240-2P is the demand function and P = 1 s, what is the quantity demanded ? 
a= 240 - 2P ci~~ tjQ?.,~ ~ ~ P = 1 s c,~rl. ~~cm ~c:.tr.>~ ~d ? 

9. Write the general fonn of Quadratic equation. 
c::$KrrS~~d~d ~~~6 ar.,~ tJd~e. 

10. If A = {1, 3, 5, 7}, B = {4, 5, 6, 7} find A r'I 8. 

A= {1, 3, 5, 7}, B = {4, 5, 6, 7} t,1\cbw.>rl A n B e,~ 5orot:o~OOJO. 

11. What is a square matrix ? Give an example. - -. ' 
~ c::m~~ ~oaoetl) '! ?...om ero0tio5d~a:1)~ ~e~. 

, I 

12. It a finn sells 450 pens at Rs. 8/- each, calculate the total revenue earned by ,,. . ~ 

the firm., ,,. -
I "" ✓ 

?...ot:b 10~~ 450 ~~rl~~ ~.; ~ ... 11 ~. 8/- co~ clr.>Otl~ ~rAod, eroo6~ 

li~.!Jd ~u, c,~o:b~ ~ ~6. 
\'-~ 0 

PART-8 

~n-o 

Answer any four questions. Each question carries five marks. 

o;m~Cc)ddrcl ~~ ~~~~rl ero~O.tJ. c;.a ~~l~ cdJ c,~~eJJ. 

13. Find the Maxima and Minima of the function y = 1 Ox3 - 15x~ + 1 o. 
y = 1 Ox3 - 15X2 + 10 ~0tJ~d no,! ~ ~~;30.1)~ W0WoofAOO)O, 

14. Explain the limitations of Mathematical Methods. 
7'(~~{6 ;iQv~ii~ ~~1'(9~ ;i~O,t,i. 

.-

(4x5=20) 
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15. If A = and B = , find A - B . [ 1 3 4] , [2 . -2 1 ] . , , 
, . 2 1 · 6 · · 1 . 3 - 2 

A = [ 1 3 4] ~a) B = [2 -2 1 ] ~l\~rC A' - ~• c,ci1:) do~~dl:>O. 
2 1 6 · ... 1 3 -2 at 

16. If A= {a, b, c, d, e, f}, B = {c, d, e} and C = {d, e, f, g}, 

show that: 
a) A u (B ra C) = (A v B) ra (A u C) 
b) A n (B u C) = (Ara 8) u (An C). 

A= {a, b, c, d, e, f}, B = {c, d, e} ~ C = {d, e, f, g} 
.. - ~ -

e:, f\cbwilli : 
a) A u (8 ra C) = (A v 8) ra (A u C) 

b) A n (B u C) = (A ra 8) u (An C) ~odJ ~,o~. 

17. Explain the nature and scope of Mathematical Economics. 
K~~:a:~ t,~~;t:!o ;t:!d.r.lc:j ~ wil.,~®~ ~~o~. 

~ '+' d ol _. ,,_. cl. 

18. Find the equilibrium price and quantity when the demand and supply functions 
are D = 150 - 50P and S = 25 + 25P respectively. 
D = 150 - 50P el)~ .s 7 25 + _25P ;;:b~l'\ detai ~ ~tte ~o~r(Vc)l'\~r( 

~~eCJ~ dd ~ ~~~~ ~ow&tl~O. 
t 7 ~ · . 

PART-C 

Answer any two questions. Each question car,:ies ten marks. 

o.m~Cc>dcirc> wdtiJ ~~n~ri ~o~. ~-- ~~n ~ c,owr<~. (2x10::20) 

19. If the Total Revenue function is R = 10x3 + 6x2 + 4x + 20 and x = 2, find the 
Total Revenue, Average Revenue and Marginal Revenue. 
~u:, e:,Cc>o:i:ld ~o~ R = 1 0x3 + 6x2 + 4x + 20 ~a:, x = 2 e:,1'dJwc>i1 ~u:, e:,tr.)o:i:), w J ~ 

;?jcre);:jO e:,tr.>o:i:l ~~ .!.1~~03 e:,c;,crl)~~ !OrD&f3cmO. 
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